(1) What is the no. of electron required to develop the charge of 1C on body?
(a) 6.25 x 10™

(b) 6.25 x 10®

(c) 6.25x10%

(d) None of these

farelt srammafira avg W 1 ¢ 3mder g & forw 3w & e 77v sagial 1 wear ght 2
(a) 6.25x 10"
(b) 6.25 x 10°
(c) 6.25x10*

(d) T4 g a7ET
Ans:- (a)

(2) Charge on electron/proton is :-
(a) 1.6 x 10 to the power -19 C

(b) 2 x 10 to the power -21 C

(c) 1.6 x 10 to the power -9 C

(d) None of these

gaFe/ela W A g § -
(a) 1.6 x 10 FTETA -19 C

(b) 2x 10 FTETT-21C

(c) 1.6 x 10 FTETT -9 C

(d) 3T FYE AT

Ans:- (a)

(3) Which of the following is correct relation between electric field E and potential V?
(a) E=(-dV/dx)

(b) E=(dV/dx)

(c) V=(dE/dx)

(d) V=(-dE/dV)

frfaf@a A Ryg v e sk Rya-fee v o adi aeu -
(a) E=(-dv/dx)

(b) E = (dV/dx)

(c) V= (dE/dx)

(d) V= (-dE/dV)

Ans:- (a)



(4) Sl unit of electric field intensity is:-
(a) Nm™ (N/m)

(b) Vm™(V/m)

(c) dyne ecm™

(d) Vm

frega-clvean &1 A grar e -
(a) Nm™(N/m)

(b) Vm™(V/m)

(c) dyne cm™

(d) vm?

Ans:- (b)

(5) Sl unit of g, (Absolute permittivity) is:-
(a) Fm™

(b) Nm™

(c) CcVv?

(d) None of these

€0 FT AT BT &:-
(a) Nm™

(b) Fm™

(c) cv?

(d) ST S AL
Ans:-(b)
vvi question for bihar board exam

(6) Sl unit of permittivity is:-
(a) CN'm™2

(b) NC*m?

() NCZm™

(d) N'C'm?

QI FT S| ATHF g -
(a) CN'm™2

(b) N €2 m?

(c)NC2m™?

(d) N €' m?



Ans:-(a)

(7) Permittivity of free space is:-
(a) 9 x 10° mF™

(b) 1.6 x107" C

(c) 8.85x 102 Fm™

(d) None of these

T JTHT Y TS AT Al B -
(a) 9x10° mF™!
(b) 1.6 x 107 C
(c) 8.85%x107"2 Fm™

(d) ST FYE G

Ans:- (c)

(8) Force between two electrons which is separated by distance r is directly proportional to:-
(a) r*

(b) r

(c) r

(d) r?

r Gt & FaremeT &Y seaeaAT & i AeTAETAT o WATATA ST ¢ -
(a) r?

(b) r

(c)

(d) r?

Ans:-(d)

vvi Objective question

(9) If a shop bubble is charge, then its radius :-
(a) Decreases

(b) Increases

(c) unchanged

(d) zero

3R A F Jorgel I AAfAT FT 1§71 S0 A FHHh B -



(a) TecT @

(b) Tt

(c) 3raREdta wEdt &
(d) YT BN

Ans:- (b)

(10) If distance between two charge is half, then force is :-
(a) 1/2 times

(b) 1/4 times

(c) 2times

(d) 4times

3R &Y ATt & sfter hr gt meft I & ST A A ey ST STt I g1 AT -
(a) 1/27_T’?1T

(b) 1/4 3T

(c) 2 9T

(d) 47

Ans:-(d)

Board exam vvi question
1) Static electric charge develops the :-

(a) Only magnetic field

(b) Only electric field

(c) Both electric field and magnetic field
(d) Neither magnetic field nor electric field

v FRR e 3mder seaar FRan § -
(a) Frarel TFahIT &1

(b) Faer faeyeir &=

(c) Fradhra v Ryereir ot e

(d) o Frahr 3 7 faeei ot



Ans:-(b)

2. Which of the following is unit of electric field intensity?
(a) coulomb (C)

(b) newton (N)

(c) Volt (V)

(d) NC!

oot & b7 R oy & chrarr 1 AT -
(a) it (C)

(b) 7 (N)

(c) aYee (v)

(d) NC™

Ans:-(d)

3. Static Electric field is :-

(a) Conservative

(b) Neoconservative

(c) At some point conservative and at some point non conservative.
(d) None of these

- faydr st gl @ -

(a) wwad

(b) rwvaf

(c) et avaft aur w1 srwed
(d) 573 IS T

Ans:- (a)

vvi objective question

4. Electric flux through a charge enclosed surface is ............. times the enclosed charge
(a) 1/20 time (3[=11)

(b) £ times (3T<T)

(c) 4m &o times (I[=T)

(d) 1/(4 m &) times (3[AT)

it oY g a2 gva W Ryl worer st Rt smaar gt & -
(a) 1/20 FAT



(b) &o 31T
(c) 4 g0 '{;FIT
(d) 1/(4meo) Fem

Ans:-(a)

5. Relative permittivity er of any medium is equal to:-
(a) £/eo

(b) exgo

(c) e+ ¢&o

(d) e—&0

forelt ATearer 1 I TR e ST EIA R -
(a) &/eo

(b) exgo
(c) e+ &o
(d) e-20

Ans:-(a)

6. If direction of constant electric field is in x-direction, then equipotential surface is:-
(a) in XY - Plane

(b) in YZ - Plane

(c) in XZ- plane

(d) may be in any plane.

afe ware Rl ¥ x-arar Y o 3 Y, ot warfsrelr @er g -
(a) XY-daI &

(b) YZ-daT A

(c) Xz-aaT &

(d) FEt s grapar g

Ans:-(b)

7. If an charge is placed outside the surface, then electric flux through surface will be:-
(a) 4m times

(b) zero

(c) 1/go times

(d) 1/4r times

3R $1§ A Tl i Tete & e 1@ S A Fay el -wrerera gl ?

(a) 4mt times
(b) zero



(c) 1/go0 times
(d) 1/4m times

Ans:-(b)

Most important objective question

8. Value of electric potential due to a point charge at distance r is:-
(a) (1/4neo) (Q/r)

(b) (1/4neo) (Q/r?)

(c) (1/4meo) (Q.r)

(d) (1/4neo) (Q*/r)

v fig-amar Q@ r A R Rya-Rem Fram eard -
(a) (1/4neo) (Q/r)
(b) (1/4neo) (Q/r)
(c) (1/4neo) (Qur)
(d) (1/4neo) (Q/r)

Ans:- (a)

9. Electric dipole having dipole moment p vectro is placed in external electric field having intensity
E vector, then torque on system is:-

(a)pXE

(b) p.E

(c) pE

(d) p/E

p Wferer et aten v faya-gfaye £ wfeer digar are fydia-aa # @ s, & e dera

HTHTEI*E]?TT:-
(a)pXE

(b) p.E

(c) pE

(d) p/E

Ans:- (a)

10. Electric dipole having dipole moment p vectro is placed in external electric field having
intensity E vector, then Potential energy of system is:-

(a)pxE

(b)-p.E

(c) p.E

(d) p/E



et AT v fayd-gfaye diaar are Rryd-at 7 v s, ot sweh Rufas s&t e
(a) pxE

(b) -p.E

(c) p.E

(d) p/E

Ans:-(b)



